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The garment and the sack and the hide, etc.

OVERVIEW

The Xn>72 ruled that a 732 and a pw, or a pw and 7Y, etc. (even though their oMy w
are different) can be combined for the more lenient (larger) 23w to be axMwv 22pn.
Our Mm»do1n explains that the order in the Xn>72 is exact.
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They can be combined only specifically in this manner; the garment can be

combined with the pw, and the Pw can be combined with the 2 -
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However, we cannot combine the 732 with the =W, or the pw with the yo», for

they are not suitable to be joined together -
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And anyone who does combine them, his opinion is nullified in the face of what
is common, so they are not 297% nx=w 521, This is the view of the 5.

SUMMARY
We combine items which are usually combined, not what an individual combines.

THINKING IT OVER
What would the rule be if a particular 732 happened to have a greater thickness than
usual (it was as thick as 1) can it be combined with 7w, or not?°

! This means that if we combined (sewed together) a partial 731 (whose MW is 2°noY '3 By '3) with a partial pw
(whose M is 2’n19v "7 ¥ '7) so that together the combined mixture is °mdwY '7 Y "7, it is AXML 72pn.

2 The reason is because the thickness of a 732 and a pw are fairly close, the same with the thickness of pw and 1.

3 The difference in the relative thickness of 732 and 7w as well as yom pw is too great, to be able to realistically
combine them together as one entity. Each of the items mentioned in the 7wn and Xn*72 become progressively
thicker.

4 77 NRM is particular to a 21 or a 7ar. If they rest or sit on an object that is made for sitting or sleeping ( 2w
10wn), all the objects underneath the weight of the 21 (no matter how many layers) become an Xm0 2K like the 27.

3 See *am1 "7 2,1 1910 '0n (for a different reason why 7321 MW are not 470X7).
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